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B.2 Fourier Transforms LINK
FT

table B.2 is a table with functions of time 5 (C) on the left and corresponding
Fourier transforms �($) on the right. Where applicable, ) is the time-domain

period, $02�/) is the corresponding angular frequency, 9 =
√
−1, 0 ∈R+, and 1, C0 ∈R are

constants. Furthermore, 54 and 50 are even and odd functions of time, respectively, and it
can be shown that any function 5 can be written as the sum 5 (C)= 54 (C) + 50(C). (Hsu 1970;
appendix E)

Table B.2. Fourier transform identities.

function of time C function of frequency $
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This appendix contains a reference for algebra, trigonometry, and other mathematical topics.

C.1 Quadratic Forms LINK
0N

The solution to equations of the form 0G2 + 1G + 2 = 0 is

G =
−1 ±

√
12 − 402
20

. (C.1)

C.1.1 H

is is accomplished by re-writing the quadratic formula in the form of the left-hand-side (LHS)
of this equality, which describes factorization

G2 + 2Gℎ + ℎ2 = (G + ℎ)2. (C.2)

C.2 Trigonometry

C.2.1 Triangle Identities LINK
9X

With reference to figure C.1, the law of sines is

sin 

0

=
sin �
1

=
sin �

2
(C.3)

and the law of cosines is

22 = 02 + 12 − 201 cos � (C.4a)

12 = 02 + 22 − 202 cos � (C.4b)

02 = 22 + 12 − 221 cos 
 (C.4c)
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